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Review Exercises for Chapter 1

Solutions to Even-Numbered Exercises

2. (@) Not afunction. u is assigned 2 different values.
(b) Function (c) Function

(d) Not afunction. wis assigned 2 different values
and u is unassigned.

4. Yes,y = 2x — 3. 6. No, does not pass vertical line test.

8. g(x) = x#/3 10. (—o0, 0)
(8) g8 =8Y3=2*=16
(b) gt +1) = (t + 1)*3
g8 —g1) 16-1 15
© 51 “8-1 7
(d) g(—x) = (—x)¥3 = x43

2 - 4
3X+4.3x+49&0.Domam. al x # 3

12. x>+ 8x=x(x+8)=0 14. f(x) =
Domain: (—oo, —8] U [0, co)

—0.631x% — 2.845x + 14160 —-5<x< 2

16. BO) = { 2088x + 5768 2<Xx<6

20 For 1985, x = —5 and B(—5) = 12.61 hillion dollars

/\\ / For 1990, x = 0 and B(0) = 14.16 billion dollars

For 1995, x = 5 and B(5) = 16.2 billion dollars

t0 Do 201200 % 2 37 om0

Range: [0, o)

20. Domain: all real numbers
Range: [0, o)

22. (38 ¢ 24. () 10

(b) yisafunction of x. (b) yisnot afunction of x.
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26. f(x) = V-9 28, f(x):@
6
6
\ : / >
ol Y Ly \/
- -14 [—— L i 4
iy
-6
Increasing on (3, oo). Decreasing on (—oo, —3 , i
gon (3, cc) gon (—oo ) Increasing on (— 8, oo). Decreasing on (— oo, —8)
30. f(x) =x2—x—1 32 fx=x—-42—-1
3 4
\ - / _12 ..... 12
-4.5 |+—— \J 45
3 -12
Relative minimum: (0.5, —1.25) Relative maximum: (0, —1)
Relative minimum: (2.67, —10.48)
X2+ 7 x<1
= — 3 w2 i i
34. f(x) {xz 516 x>1 36. f(x) = 2 — X2 is neither even nor odd.

+123456

38. g(x) = —x® — 2 isobtained from f(x) = x3 by areflection in the y-axis, followed by a vertical shift 2 units

downward. g(x) = —f(x) — 2.
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46, , 48, y
14+ 1T
—— : x
12+ -9-8 -5-4-3-2-1 | 1
10+ ol
8y, -3+
! -4+
44 ST
64
2+ 1
NG X gt
-16-14-12 210 V-6 -4 2 ol

52. y 54,
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62. 100
- Y1+Yo
i Y1
2 ; | ' ' ' ' ig
20

For 2002, t = 12,y; ~ 116.6, y, ~ 47.9 and
y; t ¥, = 164.5 billion dollars.

66. f~1(x) =x—5

68. (a) y=5x—-7 (b) 4
X=5by—-7 7//
X+7:5y ,emkxxxxxug

X+ 7 I

F-1(x) = i

¥ =" :/

60. (gof)(—=2) = g(7)

64. f~1x) = 12x

50.

56. (f + h)(5) = (5 + h(5)

9

(© f~H(f(x)

=-7+77
=70

=f-1(5x — 7)
Bx —-7+7
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70. (a) y=x3+2 (b) j (© fYf(x) =f1E + 2)
x=y3+2 [ =3x3+2-2
X_2:y3 _elllllkaﬁe =X
f7ix) = ¥x -2 ﬂL: f(f-1(x) = f(3/x — 2)
- =(x—2) +2
=X
72. f(x) = 7";3 74 (0 =>F -2
1 y=x3-2
y=§(7x+3) X:y3_2
x=%(7y+3) x+2=y
8 =7y + 3 709 = Yx+ 2
8 —-3=17y

F-1(x) = %(SX _3

76. f(x) =46 —x, x<6,y=20
y =46 — X
x=4/6-y,y<6x=0
X2 =16(6 — y) = 96 — 16y

16y = 96 — X2
:96—x2
16
96 — X2
—1, —
f=1(x) 6 , X220

78. Fase. f(x) = % or f(x) = x satisfy f = f L,



